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Read thoe following instructions carefully beforo you begin to answer the questions. This Booklet contains
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Before you ntnrt to answer the questions you must
check up this Booklet and ensure that it contalns all
the pages (1 -20) and see that no page is missing or
repeated and that each page has the Test Formy number
printod at tha bottom of the page. If you find any
defect in this Booklet, you must get it replaced
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INS TRUCTIONS TO CANDIDATES

1. Iia iheckiel conlaing 100 questions in all comprising the

fodbowing i il

Puil A tinnenal Intelligence and Reasoning (25 Quastions)
Poi 1 Gionmal Knowladge and General Awarenass (25 Questions)
Pan (2 1 lstentary Mathomalics (256 Quastions)
Prut 13 1 oglimly ¢ Hind) {25 Quanlions)

2 W fuestiiaia uel bllingually in English and Hindl, in cane of
dnsepaiey. the English version will prevall,

3 Fails A 1o € are compulsory for all the candidates and are
wvallahie bilingually. Candidates are required 1o allempl sither]
Emglish on Hinal in Par D

4. Miuealions are compuleary and carry equal marks,

Invigaton Yiws it complole and code the details of Namp.a
Number, Tlzkel MNumbor end Test Form Mumbe
Answer Hheal  carelully You must also pul your . signe
Left-Hal iy Imprassion on the Answer-Shest at the p
place bele you  aclu stanl answe lm quasu 5
Instruclions  musl  he mh?nr compliad %‘!{ht
Antwer thaeel will nol be avoluated,
8. Anwwain sl be  shown by mrru:lﬂerv blaclremng Ihe
codiespaniing chiclos of Side-ll of the Answer-Sheot against the
inlavend yuaation aumbar by Black/Blua Ball-point Pen only
At sarm wihieh ara _nol shown by Black/Blus Ball-paint Pen will
el e o et Wy ‘mark
¢ Aiparhing "ﬂ“_ and the coded information in tha OMR Answer-
haal 1 vaso ILD Infarmation is incomplete or diffarent from the|
ailnalon given in the apphication form, such candidate will be
awaidimd AL G mark
8. [ha Answer Bheat must be handed over to the Invigilator before
yus lmnve 1he - xamination Hall
9. Follure to qomply with any. of the above instructions will
randor & vandidata llable to such action/penalty as may be
daaniad N

10 (e wsiner i which the different queslions are lo be answared
lias bewn saplainad al the back of this Booklet (Page No. 20),
wivih yeni nhuld read carefully before aclually answering he
UL

11 Anmwst the quontions as quickly and as carefully as you can,
Hapie spmalionn may be difficull and others easy. Do not spond
teitn sy Dgvies oo sy queslicl‘l

12 No rough work Is to be done on the Answer-Sheatl. Blank

npacen provided at various places in the question booklot
may ha umail for rough work.

“Mohila phones and wirefess communication devicea are
conpletaly  banned in  the examination halls/rooms,
Caniliiatos mio advised not fo keep mobile phones/any other
wireloss conununication devices with them aven in switchod|
aff wwwde, fiv thoir own interest. Failing to comply with this
pravtsing will be considered as using unfair means In tha
ovamitnation amd action will be taken against them including
canvellation of thelir candidature.™

13

5 You will hae aupplied the Answear-Sheal separalely by he :

10.

1L

12.

13.
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. W HTard & Fu § e i |
- T RT a7 IeE-aT 3R & S | 3o aftaer A

TeaaETaell & Hewi CH a3 A1, I aFaw, e
3 Ere W FEAT 3 TR | W & et anea A U e IR
Feert Qe oz PP w2 3 me iy erensit vd and grer & iR A1
wﬁwm#ﬁmmﬂw&mmﬁwmmwﬁm’ . ﬁ‘
msnmﬁrm—ﬂﬁmrmm:rﬁrm| e

T ATRTE AT *ﬂnmmmirmtlr-,rzw nq;hm;mm#:
Fr@md | i e ST TR A o e A A M o, Serds L L
Tore s 3o a1 e e |

3o 3. Sear-ufian F wiY ardt e wEen Y o Hae a3 | af
HEAT 3T & Far 3T wOT A & 9 e § R d, drtay s
T Ay i T s |

e e o) & ae afdamlt 3w ul i Fders & gard wr s
arfew |

U & Rt A & P ow w ot e st e v aEsigET O
Frdwasr e & 57 gt b o goe R sraear |

T wEt ¥ e & 9 R g afienn & O (g2 Fear 20) F o
BY MEAMT AT DR, 38 o wdl & Rav A 4 A ey ag o |
WAL & St Foverlt el BY 9 v Latagdn & | e e aur
Fo HfeA § | Rl v v g7 aga 30w sag A @t |

W T ST Seer-afw o s & | 9 gfawr F Rifeer

T 9T ITFET Al S 9T w6 W R s g war B

“qfiew gier / FF A Alarga wh e dar war avew gl e
& sFiaand w5 37d e Rer 3 wonw o a0 miwys wiay

Fraf} 3= FErT Far W R M wrk st s arw A v | s
WU ¥ HG AT 7 vt wiadie # w3l wrauter svar
FreaT AT I feg wrkadl &y arel, el sraflarie s da
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Part &' General Intelligence and Reasoning Miay 5 WA giasteat o

Part A: General Intelligence an_ﬁ Reasoning B) Select the unswer figure in which the question Rioss
HET &: T qfgaear wd ahufFa hidden.
& I TS Ifeiomsd wea sl od gt Y

Question Nos.1to 3

Ve HEAT 1 # 3 aw
Directions / fR33r find the odd word / letters / number
from the given alternatives.

lav e [@Feql & & B ez / IR L GEqwr 3
glare]

1) ~ |
AY'15 B) 22 .
Cc) 12 D) 18
- e e R Question Nos.7 te 10
2) S VH ST T T
A Speed post / T dree ) — Dircctions / [3der Select the related word / letters /

number from the given altematives.

C) T D) ¥, T :
Money mkr."l-'l'u‘-fl'ifl.'é'f e shls.wm@ e 7w Aest 57 2 A —

glvy
3)
“ ",
A IG B) RN
C} UQs n) NI o 7} FRENC‘” : FRANCE :: DUTCH = 7
. e Rt s BRI g 7
4) Observing the Trend find the missing number. A) NORWAY /5T B) HOLLAND / gz
“fﬁi'f* a;‘““ BT FT HEr s A, C) Fun st D SWEDAW / e
5 S 1 P B =
_34; 26 _"_} 8) BOOK :LIBRARY :: TREE:?
430 3
QIAF @ GFEARIAH o g8 ; ?
A6 B) 10
c) 3 D) s A) FURNITURE/ effe | BV FOREST/ ot
= . = ©) sHADE/ wrar O} krUIT 1 wer
3) A florist had 133 roses, she sold 5)‘? of them. How many . --
roses had she left ? J) DIMO:DMIO - JUVR : ?
v o0 fARAr & 9RT 133 aena | I sEE AT JVUR B) JUVR
7 A R | 3wF @g By e v aa? C) JVRU D) JRVJ
(’:” “ -3*" : 10) 41972
N - >
; == e _.} _ N A) 49 B) 68
tC) 52 D) 28
GO2015 / 1133786 ) PTO
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A4 Gionneal ltslence and Reasoning

T A anET 4R o b e

M) IF2 0,6 10 6 5 9 then 7=7

afd 2 o0 0 s 9gnar 7=2
AY 15 B) 18
g} 12 D) 16
1i} If -

+ stands or &
X st Moy
Slaryeds w1 sl

LRRTHTEIY IO FTTIEST ITYT

A8 i h-10r oy
(Do chronalogivnlly angd not acconding to BODMAS rule)

e
« o iy

x. - W forg &

—+ & MY koo

koW Mg g, o

4300-1 283410 7

(A W st & ags Al afew w & sigER
& fifq)
A) 9 B) 16

C) A4 D) 14

-

13) Direction: Two statements re given followed by two

Conclusions / Assumptions, | and 11. You have to consider
the statement to be truc, even il it sceins to be at variance
from commonly known facts. You ire to decide which of
the given conclusions / assumptions can definitely be drawn
from the given statement. Indicite your answer.

a2 & 2T R 1 F B e @ frsed
AIET, LA 11 Parer 72 §) srosr far s &
fF ®¥T e & T A% TR e et wy
et welta g & s P s g B B o
YA A F Fi-ar AT @& 5 ey /
AYAT RAFAT ST Ahel & W6 ey a7 Biftee
Fiforo)

Sl‘;ltcmcnt.-'ﬁﬂ?l_ g

. All children arc students, / #If @o gzt ¥

2. All students are players. | ®3fr Peandt f@ard &
Conelusion / fS=xd

I: All cricketers are students. | Y fordpe jEerics
EECRig _

11z All children are players. / w3l a=2 R ¥

‘5}' Neither conclusion Inor ~ B) Only conclusion T

C)
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follows. / Fae fo¥ead |

BT it

11 follows. / & fs=ped |
I

Only conclusion 1T D) Both conclusions [ und 1
follows. / Faer Ty 1| follow. ! T&=d 1 3T 11
e ) a2t REaa

PTO



Downloaded From: http://sscportal.in

Part A: General Intelligence and Reasoning NI F, HART e v

14) A word is represented by only one set of numbers as given  16) Which answer [igure will complete th patterm in 1
in any one of the alternatives. The sets of numbers given in guestion Fyure?
1h|:_ El.g,mames. arc re::prcsem-:,d by two classes of alphabets Fh @ seaw HTT v IFEA ¥ uRwT @ @
as in two matrices given below. The columns and rows of
matrix | are numbered from 0 to 4 and that of matrix I1 are
numbered from 3 to 9. A letter from these matrices can be
represented first by its row and next by its column, e.g., "1’
can b g pruum.d by 00, 12 etc, and ‘P’ can be
represented by 56, 68 ete. Similarly, you have to identify
the set for the word ‘FIRE".

"' uw ez ¥aw v S W @R g o g
S T et i @ fedr o 7 R T g k[ =1t : |
Rt 3 P T A T ¥ 2 it g | -
zofrr arT ¥ 3bar B A R ae & aeget 7 . |
3megE | % e T e B dEm oX4 g : 2 D)
3l smeggE 1 #r S A9 | oA WegEl A TH WEW A o WY
Ted WA OfFa X @ F wET FEA gaW
: aaffaT ST TEAT ¥ 3EEOT F AT, D’ F 00, 12 3‘;&:&?;:;‘;2
e Ll T S A § TP 56,68 Directions / [32%" a series is given, with one-term
gam exitar S B ¥ | S v | 3 v # missing. Choose the correct altemative from the given
fow orez ‘FIRE' & fAT FHE ) Ug=ar & . |ones that will complete the series.
MATRIX - 1 MATRIX - II e & & e v g ¢ R
- :"56_?'“, fageat 7 & ag wdl BeeT giav st sadr & @
's O|P|RIS T |7V
‘ lels|Tlo|PIR| ' — -f e e
7/PIR'SIT O ) pep,nee. EFGUEM H we R
: 4 il}o—iliﬁé-s-: ~A) UM ¢ B} GEF
[41EL1 NIDIE] w9 RISITIOIP. | ¢ gy D) FEG
A) 21,22, 88, Tx B) 02,03, 57,01 - — e =
Gl S D) 14,10, 69, 14 ¥ 18) 0.15,0.3, 212,24
i el T B) 4.8
15) Which nl' Lhc answer figure indicales the best relationship C} 0.06 m 6

hetween Milk. Goat, Cow, Hen? . T s

Fler O 3eae NFTa au ael g, et F @ a6l —— =

X i 22 19) From the given altcmauve. words, select the wurd whicl
Ha g &2 cannot be formed using the letters of the given word.

[ ' _!T'_ﬁ.\—! 2w v dwfeas weel @, WF A & GEA HiSw
Noall 7 /‘?\\mi M) S By e & 3R S Fh
,Gf r ;C)C \_/y @/. i o I & 3 EZl &
= ! o Heh|
A) Br a | o) INTERDEPENDENT
. N A) DEEPEN B) REPENT
C) DEPLND D)} RETREAT

620157 1133786 4
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artA; General Intelligence and Reasoning " ® a1 FRAE & T

#

20) Five iriends ure sitting in a row facing South. Here Mohan 23) Which of the answer figures can be formed using the

is between Bali and Raju and Raju is to the immediate right question figure:
of Praveen and Amith is to the right of Balu, HIET T Ehy
Who is in extreme right end ? "l o R W W I 'érFI‘lé
ot 0 s e 4t afevor et o e 4% # 3 i
HYE, A1, 31 T, e 3 3R e el & S g r// \ l
8 ¥ e e, A & o 3R] e, a7 ’/‘B '
W at =
R N
A) Muban Mg 8) Praveen / 9¥eieT - ! \:\\ ~ e
C) Bt arg B Amith 7 3T oA || A i
- I < NN AN
. —_— S 27 el L 1S
21) Which onc ol the given responses would be a meaningful | | (\/’ |' ' \\f] | \j'llﬂ_‘ !
! order of the following: TTTA) B) \;;}f W bp
1. Child, 2, Profession, 3. Marriage, 4. Infant, 5, Education
0w A Ream aruy b A R Pt @ anis 24) A piece of paper is folded and cut as shown below in the
HHETT question figures. From the given answer figures, indicate
how itwill appear when opened,
|:amm.z‘mmw..1.mmu,4.ﬁig,s.ﬁaﬂ ;ﬂﬁmmﬁlﬁ#mmﬁmﬁ 3
A) 21438 BY 41,523 FIEA G TN & A% a7 Bl Seer INHTA ST
C) 133524 D) 54,132 3
;2) Which of the answer figure is exactly the l'l;lﬂ_'ﬂ‘l' image of | Ba
' : the given figure? - ? '
FIT H sET TP & wh mE i wdr agor j__/ ’{|.»5<>, . ) .
aicifarar # o = =

| L*.. f '..Aj.__Jme/ g L 5—

! 25) If STOVE is coded as EVOTS and CANDLE is coded as
| ELDNAC then REPORT is coded as?

IfE STOVE & F:1z EVOTS ¥ 3t CANDLE & FIg

Lo

- ) by ELDNAC & & REPORT & Hi a1 ghm?
- — - oAl TROPER " B) PORTRE
C) SFQPSU D) QDONQS
GDAMS ¢ 1A R 5 PTO
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Part B: General Knowledge and General Awareness

WET & A@THRT A T AT S

-

Part B: General Knowledge and General
Awareness

ST @ WD A UE HAED AHSER

26) Who of the Delhi sultans pursued the policy of 'blood &
ron':

iy fredlt Godle 3 FA0 Afa HU=mS?

K} Alauddin Khilji / B) Ghiyasuddin tughlaq /
ECIESATATCnEl] g garas
€} pumish/3ega@y D) Balban / deE

27) When was the office of District Collector created?
el FeFeT HI Ug FI AT IEAT?

B) 1786

D) 1771

Ay 1773
c) 17712

28) Oxide of sulphur present in the atmosphere are washed
down by rains to cause:

Wﬁnﬁam&ﬁw@ﬁmr#gﬁm%m
FaT AT &7

A) lLowering of pHlof soil £ B) Futrophication in lakes /

ATET # pH efral 71 G
PR 3
C) Depletion of fossil fuel D) . Industrial smog 3
rescrves | T SUH formation / HOE
&3t feror

HE I &7T

29) Chemical composition of heavy water is:

% Sl &1 TEAS Hue #9187

aY D0 B) HDO
C) Hz0 D) H202

20" [n B.C.G. Vaccine the word 'C' stands for :

B.C.G. 87 3 'C 2reg F aT A &

A) Calmette F FFAT B) Chlorine / F@MT
C) ough / s I:“)’ Cadmium / S

-

31) Which one ol the Tollowing is a non-dimensional quantity?
Breatafae 1 & w7 e afrde
A) Co-eflicicnt ol viscucity

_ B). Plank's constant / Hei
J TR AT

LT
C) Gas constint / 318 T2 D) Strain / THE

32) Dadabhoi Nuroji has described his theory of 'Drain of
. Wealth' in the huok . : i
TS SRS 2 3R e T aer Raia e

g A auer e g?
A) British Rule and its
~" Conscquences / ffer

T TS 5CH
FrdEEES

C)  Exploitative Nature of
British Rule in India /

B) Poverty and Un-British
Rule in India /9rEI €5 |

- fafeer v gov 3T3AT

D) Nature of British
Colonial Rule / =¥

r.rf#ﬂwtﬁ?ﬂaz e ——
i R wT T -

¥R

33) Democracy is a ‘government in which evervone has a share'
was the opinion of:
S T A o vedw A Reierl g
oy fFae Ha un
A) Abraham Lincoln/
yarEA e
C) Jeovans / TriE=H

B) Secley / 2oy

D) plato/ SEY

34) The acid which fails to liberate carbon dioxide from sodium
bicarbonate is:

T arsFEke & S S-S FwTaA A

GDZ015 /1133786

fel HEA(UTES) Fie ATEAT 6T
A) Sulphuric acid / B) Acetic acid / TR
Fergfts ufig s
C) Formic acid / PFHEE D) Carbonic acid /| FHETAE
UEE ufis
6 P.TO
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41 B: General Knowledge and General Awareness

HIT & §AG 7 O HTATRT Sl

35) The headquaters of United Nations Organization is located
at:

TLF TS HIGA & AEAT Fal oua 7
A) Geneva I Jvar B New York ¢ = 4k
C) Washington / @fiest D) Rome / 21

36) The term “URL" used in Tnternet technology stands for:
gevate FFNGTA A QYFA AT Y W UH' FT AT
T g2

Al Uniform Remate Locaer  B) Unique Remote Locater
! gfereT R | gf@w e @t
CIC Ty

C) Unique Resource Locater D) Uniform Resource

| gferF REN dtder Locater / FFAwA
R ader

Indian  industrial

37) How does agriculture promote  the
development?

T & sl e Rery @1 TeEr B s
e g7

5} By supplying raw
materials / & AT

B) By providing food and -

clothing o laborers /

1 HS v HAFT F A8 s
FHIST HLAT FU&

C) By opening up market D) All ofthe given options /
for industrial products | fev av fawet & @
HENTFF seurel & sy
NT T aeT

3) The presence of pollutants in the environment is usually
expressed in ppin, where ppm stands for:

THETor F ag ) Ry = amea 9 6@
wﬁewﬁ::slamrhaﬁﬂtd‘rmﬂw‘rm
Far §-

A) purity per microgram /| B) parts per million / e

-
39) The greatness of Shershah lics in his:
IRE $r Agr R AR
B), Administrative reforms /
L=

qerafas g

D) Secular attitude /

AR 3ifdgfea

A) Victories against

Humayun / AT 9T ey
C) Superior generalship /
Ass A glAT

40) When water [reezes its density

ST A ST ST §, W ST e

Al Becomes Zero / Fmar B) Decteases / 7€ STl & |

ST @)
EJ' Remains constant / 7o D) Increases ;’a’amm
g

41) Who was the author of Telugy Work Amukiamalyada?
Ao B I AT ST AWF T A

A Kishnadevaraya / B) Harihara / aReT

D) Devaraya / Za313r

42} Name the first Indian to he banned for using anabolic
steroid in Olympic games:

39 TUH HITT F o F4ieT oy dfe ot
H UHaA® RU¥s F g4 &6 F S gy
forar e

A) Sumitha Laha / GfEeT

Gl
E:)’ Pratima Kumari /

gfcAT Sl

B) T. Sanmancha Chanu /
&, WA Ty

D) Aswini Akunji /
e s

43) Economics classifies the man-made instrument  of
production as:

HEUTH AT RS 3eqes TTE0T 4 By 57 5
affpd weard

A) capital / gt B) equipment 7 3umor

SRS 9T AgwmT w AT ) D) .
- i luhour / 275 L7 mgamzation ! IOTGET
_1.} pelhitant preveni D) sarticles necela 1 :
PTG e TNG
measures S eI Llrﬁ':h_p'-ﬁ' qT e
fde o
GD2015/ 11337488 7 PT.O
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Parl B: General <nowledge and General Awareness W T T WA UH @A S

44) The Head guarters of Word Trade Organisation(WTO) is
situated in:
freq SR TS ST AGATTT Fal 110 87

50) The first President of independent India was:

Facie ot 3ITET & g mqﬁ' HiaT 7

A) Dr S.Radhi Krishnan / B) gardar.Patel / BTET

A) London, UK /diee, ZF  B) New Delhi ¢ 7% Reelr apsosET e

C) Washinpton, LISA Y _P] Geneva, Switzerland /
aiRiarest, L UH ¢ S, ey C) j1. Nebru/ Srue AEE [3!/ Dr Rajendra Prasad / 31
S s . - = - . el THIE

45) Which one of the following is an autotroph? —— - — -
frafafaa 3 § w0 T IR

A) Butterfly / fcTel B) Algac/ dharer
€Y Grasshopper / fgst D) Mushroom / FFH

46) Who established the “Sharda Sadan’, a school for Indian
Widows in colonial India?

AaER%E A & Ry Buanit F @ aRear
Heww TR ) TUGAT fhaer f2

A) Mahadev Govind Ranade B) pandita Ramabai /
/- FEId Midee s afRar A

E} Dayanand Saraswati [/ D) Sarojini Naidu /
EqTeg FIEAC TS ATIg

:' 47) The smallest occan is :
FaR SIeT ASTAE Pl WR?

A) pacific / TRl BY Avantic / Iedies

C) Indian/ e D) Arctic/ 3THfe®

48) The Cash Reserve Raiio is atool of :
A AT HeqOTeT FHHET ITHOT 87

A} Tax policy / & AT ‘9" Agricultural policy / B
it

C) Fiscal policy / TrFeRIdIT D) Monetary policy / #ilfga
A fer

49) Which of the following countrics has brought out a stamp
on Mother Teresa to celebrate her birth anniversary?

7T 2T i FEA A & v 39 ) Ree
afafaa A & e 2y F gwiRa f g2

A} India | BIRE B) uk / ¥
C) Ppakistan | fFETA B) usa / s

- b p—

GDZ2015 4 1133786
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ant C: Elerentary Mathcmatics

NI T qEiE deaTee

7

Part C: Elementary Mathematics

A certain sum amounts to ¥ 1725 at 15% per annum at
simple interest and T 1800 in the same time at 20% per
annum at simple interest.Find the sum.

1% i 15% afer a fr wrewRer s 57 97 ¢
1725 8 st & 3 20% ufr ad fr mremor s
GU 9 3 & A a1 T 1800 g o g ofer
qcIET?
A) T 1200
LT 1500

51)

B) Z 1650
D) 21700

52) Avcrage income of *A’ and B’ is 2200 and average income
of “C" and *D'is ¥250. The average income of A,B,C and D
is-

A 3 B 9 i 31 2200 ¥ 3 € wd D Ay 2T
1250 % | AB,C 3 D Fr siterer 3w i &

oh) 2225 B) 2125
C) %200 n) 2106.25

33) A seller increases the cost price of an article by 30% and

-

fixed the marked price as Rs286. But during sale he gave -

10% discount to the purchaser. Mercentage of Profit will be-
UF fAdar A fedY arg #1 Tvid aea 30% agi
Rar 3t sifba s 286 @ v | g Tasr
#mmﬂaﬂmaﬂm%?ﬁraﬁﬂmw
wferre faer gan?
A) 15
C) 20

B) 10
D) 17

}) The mean proportion of 1.21 and 0.09 is-
1.21 3R 0.09 F A saurg war g7

a) 33 B) 0.033

3 033 D) 3.03

)} 1008 divided by which single digit number gives a perfect
square?

1008 3 TRy var 3ia aredYy Fear & faenfora Rvar = f
HTFTHET Ueh U Jal. §I22TT &7 SIU
) 8 B] 4
) i <3j v

-

-

36) The smallest number by which 243000 be divided so that
the quotient is a perfect cube is

243000 +I 8 FUaw e § Rafea o aw
& srstewe v oot ge dem smee
A) 3 Bf 9

C) 1 D) 27

57) An item was sold for TI600 al 75% discount. s marked
price was

TohT a1 T 25% 1 e 9T 23600 3 AT 14T IHFT
3HfeReT Hear Far 2
. A) Tas00
C) 74800

~B¥ T 2700 !
D) 2880 -

+58) A dealer marks his goods 20% above cost price and allows
adiscount of 10% to his ustomers. His gain percentage is-

' T [T TR A W 3R el dT HeT @
20% 3R fa@ar & 3t 39 aret B 104 &
e &ar 2| 3uar win wfdwe fraar &2

A) 7% vBY 3%
C) 9% D) 6%
59) Theaverage of 1,3,5,7.9,11,...... 25 terms is-
1,3,57.9,11....... 25 TEHy # e Fraer @emr
A) 625 B) 125
C) 50 —B) 25

sum of T 800 becomes T 956 in 3 years at a certain rate
of simple interest. If the rate of interest is increased by 4%,
what amount will the same sum become in 3 years?

T 800 Fr U Aremer sms A oF BART 2 973 .
T 3 T 956 §Y el & Ay =T ¥ 4% agr A Siw
ar ag a3 af & el @ o

A) T 1052 B) ¥ 1042

<e)}-T 1024 D) T 1025
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Part C: Elementary Mathemalics

s 31 SRV 3T,

-

61) A fruit merchant makes a profit of 25% by selling mangoes
at a certain price. 1T he charges T1 more on cach mango, he
would gain 50%. At first the price of one mango was-

o et Tl @) U e HEd O% HH a9 T
259, T ST BYAT & | I ag Fede A TR T AU
TR Y TR 50% T ST BT | FIST H, HTH B RrAT

Tt 22
A) 27 B) 26
£) 24 D) 25

62) If the cost of an article is T P after two successive |
reductions of 20% and 25%, the original price of the article
was

|

2, el e Y ST 20% T 25% Fr A HGFERE
Feldr Far & are T P Al & A aFg T He S F0

@
AYISP - B) T3 P
4 5
C) T4 P D) TSP
5 3

63) 16 men are able (v complete a piece of work in 12 days
working [4 hours a day. How long will 28 men, working 12

Question Nos.65 to 66
NeT HEQT 65 & 66 TR

Directions / X Study the data and answer the questions.

I T HewT dF vl & I aHae]

The score of sludenls of a class are given as follows:
o i A Ordl 1 e Fer Sredie $9 HER 6

[TQSCORE . i
o ay awe | 250 | 9048 | 1N 116 120430 | 130140
Na of Stdents .

N—— 8 9 16 13 1 !

65) The number of students whose IQ score is 100 and more is- |

100 3 30w gy afey 3w WIS S A o

#r gem B 82
_A) 35
c) 36

B) 46
D) 29

66) Number of students whose IQ score is 140 is-

140 afy @feT 3 WISH FE A BT B
e &7

hours'a day, take to complete the work? - 8, ,.&T undeterminable from B) 2
. 16 T A & 14 6 F1 FTH T SR 12 R i | given data / @ T
i wwmazsmﬁﬁﬁlzﬁtmmmm - et & T AT
L 3 F1 et et 3 Tt GG
I A) Gdaysfﬁﬂ B) Tdayslﬂ?f 3 E} _I.. e _D}_E S
i ‘9;’ 10 days / ﬁ“ D) ?d_“%'s"ﬂ;r 6;‘}?& plane can cover edno km ;1 B_W._lf 'l;m sp:;d_ i:.; ;

64) A shopkecper, in order to clear his old stock of T.V. sels,
offers 12% discount on the T.V. sets. If the marked price of
' aT.V. set is T6500, the selling price of the T.V. setis:

increased by 250kmph, then the time taken by the plane to
cover 9000 km is
s AT 6000 Frafy B &8 8 € 7 Ay Y |l 8] IfX

sy arfay 250fR wfey der aer §r s &t 9000 TEH¥T Fr

tra:qa:manaﬁrﬂﬂ#qi'lﬁaﬁ#mm%ﬁw e v e 3 T Y Rt S Y
ST e T 12% $ e &ar &) af O Je F AT HET i | . i
26500 & AY ST Ae 1 kT He fce 82 ) 8 hours /i )9 hours /5
A} 5400 _B) 25720 _9_3 _Ghoursx"ﬁit D) ihnurs!‘ii_a' )
c) 3700 D) T 6000 T T e »
S e . - i‘?a} The value of ¥.000441 is equal to
y g | NO00ERT T A I &7
6 F6 A) 0.00021 8 0021
22 t g c) 0002 o) o2
SO =
L : , PTO o
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it C: Elementary Malhemalics wa o wiRRE et

-

69) The ratio of ages of lwo persons is 5:9 and the age of one of 73) A student starting from his house waiks at a speed of 2 1!2
them is greater than the other by 40 years. The sum of their

ages in year is- km / hour and reaches his school 6 minutes late, Next day

starting at the same time he increases his speed by | km /

a caferer < 3y 1 3 A9 59 AR A AT B hour and reaches 6 minutes carly. The distance between the

Y AT A 40 a5 NFOF §) 3e7hr 3 o Ar et school and his house is -

A U O I A 2 /2 ot ey erer iy iy & were
A) 150 B) 180 9 Tl 6 PAe1e &8 & wgTar ) seme) e g 3<dr

c) 160 D) 140 TAY BT A e g 3 3T oy ) Rl ufaeter ga
' 5 U¥ IF 6 (AT TEW 95 SIAT & She 30 3o ar s i

70) R.]J-;J. can do i prece of work in 20 days whi !1._‘: Ramesh can FadeAT gfr g2

finish it in 25 days. Ramesh started working and Raja ;

joined him afler 10 duys. The whole work is completed in- ._B-}'/llll,rd Km / st B) , K / R

et serdr Y 20 HHdl g Safs
i i R 5 hidial C) 6 Km / fer D) 115 Km & R

33 25 T 31 qRT Y T ) T F FH AEFEHF 10 o
o1 s T & T 2 T o3 et e Rt g — 7

74) A right circular cone of height 20 cm and base radius 15 cm

gr? is melted and casted into smaller cones of equal sizes of
height 5.cm and base radius 1.5 em. The number of casted
A 16 25 days | & B} 3 days / &1 CORCS are-
C) 20 days /1 fasr D) |5 days / R 20 em FR 3 15 om HTUR FASAT ared oF F97 e
=i | U FT AT ST ¢ HE ST S om 2 TUT 1.5 em UK
1) "A batsman makes a score of 87 runs in the 17" inning and T3 aret FT HIHR & vie-oe AHIHT ¥ BTET ST ]
thus increased his average by 3, Find his average after 17 e BT S A Hwm et g
“inning,
T aerarst 17 4 ATl oY 87 o awrar & iR se e - A} 100 =8J 30

C) 400 D) 150
Fetehl 31eicT 3 I Fe ol 8] 1787 arl) & &g gae ) » )

s Fra s X . . :
75) In a college election a candidate secured 62% of the votes

A) B4 By 39 and is elected by a margin of 144 votes. The total number
c) %0 D) 87 of votes polled is:
. T hiclsr A §U TATAl T Ueh 3FIGAR 1 62% A wied

2) A solid right prism made of iron has cross section of a B3N 144“ﬁ*mﬂﬂmmmmﬂﬁ’fﬁﬁ

triangle of sides Sem, 10em, 13cm and of height 10 cm, 1f & gt o

one cubic em ol iron weighs Tg, then the weight of the

prism is (approximately) LA}'/GDG B) 1200

&I Y U N T3 S A Sem, 10em, 13cm STNHT C) 925 D) &00

AT 310 cm 3 gt Y yegwey e &) AR W &
T Hel em T doled 7g €, & Fsa o1 gater (@91

ferar gom
A) 15708 gram / Imm B) 1470.8 gram / T
SF 137132 gram / T D) 1100.68 gram / A
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Part D: English

Part D: English
Question Nos.B2 to 84

v HEAT 82 & B4 O

Directions / @3 Four alternatives are given for the

Question Nos.76 to 78 Idiom / Phrase underlined in the sentence. Choose the
wEar altemative which best expresses the meaning of the
i TR I Idiom / Phraso and mark it in the Answer Sheel.

Directions / 33 Sorne parls of the sentences have

errors and some are correct. Find out which part of a — -

sentence has an error and blacken the circle S i
corresponding to the approprale correct option. If a Qany
sentence is free from error, blacken the circle A) contitiue B) to take in
corresponding to “No Error” opticn in the Answer Sheel, N —— 0) Bring
76) He finds fault at everything | do. :83) | have Laken fancy.to this car,
A) ateverything B) No error A) revised B) given imaginative
C) Ido D) He finds fauut : touches
. i C) .developed liking for D) improved
77) If | will play my best | can win any day against ~ .= = TR A i
anybody. 84) He beats abaut the bush.
A} No error B) against anybody A) spenk well B) talks sensibly
C) I can win any day D) 1If ! wili play my best C) dous not talk specifically D) talks continuously
78) The kitchen need painling badly and | must get it Question Nos.85 to 88
ne. ;
o 7 ¥ HEYT 85 B8 OF
A inti d! CITor | . !
) need plagRelY rag . |pirections / fader: Sentences given with blanks to be

C) Thekitchen D) and I must get it done

filled in with an appropriate word(s). Four alternatives
suggested for each question. Choose the correct
alternative out of the four and indicate it by blackening
Question Nos.79 to 81 the appropriate circle in the Answer Sheet,

797 HEAT 79 & 81w
Directions / fA2er Qut of the four altematives, choose

85) She had lo ilness in order to aveid geing to

the one which bg§t expresses the meaning of the given the parly meeting.
word and mark it in the Answer Sheet. B
A) fain B) feign
i v . C) feint D) faint
7S) honour e - -
A) discipline B) courage B6) Your ___ nature will aid you in attaining success
C} determination D) respect in every venture you underlake.
- A) persevering B) rotund
80) felicilated C) lackadaisical D} catalytic
A) congratulated Bj wlored .
C) admired D) encouraged '87) The publisher is bringing __ & revised edition o
—_———— — —— = <~ =  _this book.
81) rectily A} round ) out
C) up D) about
A) condone B) correct o
C) regularise D) clarify
GD2015 1 1133785 12 PTO
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art D: English

¢

88) This is our house and that is Question Nos.95 to 97
A) them B) their’s TP TEIT 95 & 97 A%
C) their D) theirs

Directions / fd": Four words are given in each
question, out of which only one word is correctly speit,

Find the correctly spelt word and mark YOur answer in
Quostion Nos.89 to 91 the Answer Sheet.
¥ §EAT 89 & 91aF -
Directions / fder Choose the word opposite in %
meaning to tho givarn word and mark it in the Answer )
A) knowledgeable - B) knoledgeable
C) knowledgable D) knowledgeble
89) harmonious S 2
' 96
A) Balanced B) Sonorous ) _
C) Concordani D) Discordant A) juvinnile B) juvenille
- — C) juvinile D) juvenile
90) fragile A S
A) weak B) discard o
C) brittle D) strong A} deteriorate B) dcteriorrate
- - — C) deterriorate D) detariorate
91) superficial — -
A) Artificial B) Natural Question Nos.98 to 100

C) Amicable D) Genuine - XeT T&I7 98 & 100 aF

E: Directions / f8d¥r A part of the sentence is underined.
Below are given allemnatives to the underlined part which
may improve the sentence. Choose the carrect
VAT S &7 92 & 94 aF alternative. In case no improvement is needed choose
: : ’ “No Improvement”.
Directions / 3 Out of the four alternalives, choose B

the one which can be substitutad for the given word /
sentences and indigate it by blackening the appropriate

Questlon Nos.92 to 94

circle in the AnswokBtadt 98) Years ago, I met a man which was President and Chairman
of the board of a company.
: A) No improvement B) Who
) Chief or Commander of army- C) Whose D) Whom
\) Lieutenant B) Major Sl e S
) General D) Colonel 99) Where are you coming, from?

S A) were you from B) you are coming from
One who can not be corrected- C) Noimprovement D) do you come from
b indolent B) incormigible B -

Indefatigable D) ineligible 100) Covering thirty kilometers in thirty minutes are not a great -
= - distance using a brand new car,
Pul side by side- A} isnot a great distance B) Nounprovement

S — B} Pioiioe C) s nodistance D) uren’to great distance

Juxtaposce D} Impuose

GD2015 / 1133788 13 PT.C
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Question Nos.7T6 to 77
ToT HEAT 76 & 77 OF

Diractions / faden R 71w ggraxl il silwiidaal &
3 et & e ar-ar e Re av f | 99% &
v suger 3 arer Reey giav sk s e &
FeFAR FIolr FNAC |

T8) gty dfy-diiey Y -
A) qrfr Gt I g{ﬁnfraﬁramm

80) gogg 31 w9 ardY 3T |

B) ssufi
D) aganfisr

A) ganfis
L) erafia

Question Nos.81 to 83

o7 8&37 81 & 83 aF
Directions / Rdw: R ayw wagl &1 39gad Realar
g & v a-ar Reew gead & | 3Rd Raer
FT TIT I FUT 3T GRAET H FGGHT FAT
#iaw |

'31}_,“1'3;'-

Ry

9w ol @ D) gt z3mm A) =g BT s

WHATS g C) s D) ggm
M 3 mger g 7 4=} 2L - _81;] SRy
A). gu-gw & 8 o B) mig gur we v 1l ) B)
ST A" Lo C) arér D) fagsir
C) wim wwwst @ Dy gha o @ mmtaE | — e e — — -
ﬁ-?l'f?f # el 83) —
A) e B) 3w
Question Nos.78 to 80 L)
w7 Fear 18 ¥ 80 A% . o B “‘DJ_ sl

Directions / A& 20 71w Seda arvane ¥ [0 e

Aot | saa fav an-aiw Resy Re v & | 3Ra

g @1 gara G I 357 qgfaar # deqa 7

FIer HIIC |
78) yar Y Wnifda wa ar |

A) siiga B) fazr

C) duw D wenes
79) FHme w5 B ST EF |

A) e B smavu

C) EEUTT D) T

GD20151 1133786 14 P.TO
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Question Nos.84 to 88
ve7 §&A7T 84 & 88 OF

Directions / Rdw: Rv arv yigeda & Rea &t #r
e wegl ganr T F v av-aw Reey Re av §
| F9YFT RFeT JIAC FAT 3R IE F FGge
HAr |

Igedy

Fu ol A Wit o & Qe o1 oF A (D AEl
& 0w g ¢ 1 Reanl gead @ 03,3 e
A s, @l I owre A () gl gt der e
#d & ke e & g & Hasw () FAe
& g 6 g wwar | O @ wd ¥ A 9f s
(V) & SafF @y & e wea § @ Rer e
IR 3Ed (V) R v der weew |

Question Nos.89 to 91
Ve &7 89 @ 91 dw

Directions / fAdwr: Rv e il & R w2mait &7
3 =l qarr OfF & [Av a-an Reey Re o §
I9gFT RFeT FIAT T2 Ieaw TS H Faqae Feir
HH

89) spracpar A e o

_ A mwer ¥
A Frme B) afur
C) afrsr N
a0) R'HT____I'I?TEX
L EiEar oo B) sigme
D) 3w

C) sfemnrs

84)
A () st B) (1) werr M s aRew R waw o
C) ¢ s297r D) (1) ste ATHHNAT A T Tl ]
35); . - A) sreqaam -’B’ranmm
©) maAR TraER @ D) ayam
A) gy Sl Blsuty wifesy
€ ) g D) an susfe .
_ Question Nns.92 to 94
: = ¥ HEAT 92 # 94 TF
86
:J . Directions / R&e: v v gragl & & o 7 3277 &
o e V() stwd HT pex S & arr ¥ fawr s 7 IR & 3w
) (wy hfas D) iy wnf HFTY HaTT arel AR @ F won w7 R Ty
. o ¥ 3T A g T a e
) merrEry @t # W g Fer #i
A) v it B) (1v) et
C (1v) sgeagEy D) (1v) 3=t -
" (0 S 92) v 2 ar zaf¥er ot weT T WRIT AT AR &
i8) - A) gEaa sttt wetar “BY quaguesfeas
A) (V) et B) (V) At e ﬁ?iﬁfﬂ'ﬁ D) TS I &
C) (v e BV (vy s -
G025/ 1113785 i5 PTQ
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93) ofvdms ) Tt HI TAY HaaTor & fafke wal i Quasl'fon Nos.98 to 100
ForamY Y or@ HT A AT v §&4T 98 & 100 TF
Directions / fder R aw weal @ qafer (F#ElT
A) sramur A ARG B) g g aft Sp— e Gy o W | 3 BT |
C) grfsAardrorm  Dlehds @ aua e 2 3eT o F A T |
T el e . ,

= 98) i
94) g e vt ¢ Hva g BT g s 00 T

oM B) <ear -i'
A e g e B) gdgraea W - i ‘ e
C) x5 afe adt D) pyfepwat geavor ,_ﬁ . L .. i
S A 99)
Question Nos.95 to 97 W
¥ AEAT 95 # 97 a® A) gy BY qairg
\pirections / fder Rw v a awal # vF T Y& | ) g _[_’)_qj:‘rﬁi_ S
& 3 et sy & | Y% @ i gAT au Ie - R s T
afFr #F dEFER FAr FHAC | 100 <iray
. A} g B) FUCE
9 &Y s O gape
Y o @ e st B) gt Reeh S @

SUR—
8
C) mif et ot 31 D) g Rl St

96)
A) arbar A @t FR A B) g AR @ AW
TN T W@ g e #ra wrdl
C) grar Ay & faw #r Dgidat A = FT
T forE W ¥ el TR@r W g
97)
tﬂl/g’mfrn?rmﬁmq B) aaeft wa dar 3
agl o 3T W E FEr A I w &7
C) zgar U drer 09 D) geih ua g1 3T
R W A el § I W §?
il — _«%
P.T.O
GD2015 /133786 16
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